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Ex 4: 35) A 1 = 7369 = 040 12)
31 of i 317.

# Determinants (of square matrix )

> Determines of inverse exists
» Tells us some other stuff

Let Ass = a bil (signed)
Measures añea of AD

det a ba] = ad-be « is zero, 7 LiT. squeezesa liveeverything onto'

# Axions of determinant.
I. det In 1=1
3, det3 de this now of weatherdet changes signis a linear function of fusst row of A

We were
area. But thereother thirgs that
these probs

that
Atwally works for all rows
Think: area is linear fume o
now when other rows are fixed

I Generalise 3 to every now [cel proposition 5.5 I

# Properition 4: If two rows of A is zero, then dat A = O
Proof: interchanging those Awes mows doesn't change matrix.

By 2, det A=-detA. then det A =0.

3 A'=
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# Preposition 5:
"(r,+ trist?

det

generdises to other rows too
for some i that's not first now doesn't change dat.

I * Original matrix

06*0+10

ra'
:
rat

= det + + det
ri

repeatedrows

rat

= det D


